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rule
target: exp
| assign
| /* none */ { result =0 }

exp: exp '+' exp { result += val[2] }

exp '-' exp { result -= val[2] }
exp '*' exp { result *= val[2] }
exp '/' exp { result /= val[2] }
exp 'A" exp { result **= val[2] }

(" exp ")' { result = val[1] } EHIZA-TULSIE

'-' exp =UMINUS { result = -val[1l] } EEHERMNDE-TK

NUMBER 3

TDENT {Iresult = do_varref( val[o] ) } icziﬁgé;%
assign : IDENT '='|exp { result = do_assign( val[0], val[2] ) }

6 end
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Defaultd 723 (& { result = result }.
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T def parse(str)
R 'inner/ until str.empty?
HashiZ9 %223 Y THIHE case str
def 1n1t1a1i{/ when /¥A¥s+/
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en / EROXFFHE—R when-/¥A¥d+) ’
def do_assign( vname, val ) ;ﬁé‘yﬁ‘#%’j—jyl @g.push [:NUMBER, $&.to_i]
@vtabl = val -9 o . when /¥A¥w+/
endv abtel vname 1 = va o NN RLREDRIL @q.push [:IDENT, $&.intern]
B NITHRERICIZDATEIF gtpt;"oflﬁl—@d’ when /¥A.|¥n/o
def d £ CIYhTY, s = $&
e@thE¥§Er3n§mZn?m§r R (S:{fi7) 3531 @q.push [s, sl
X " ) " [F%FLER—TIE ’
raise( ParseError, "unknown variable #{vname}" ) Iy end
end o str = §'
ExceptionZ £33 end
@q.push [false, '$end']
do_parse
end
def next_token
@qg.shift

end
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parser = Calcp.new
puts
puts 'type "Q" to quit.'
puts
while true
puts
print '? '
str = gets.chop!
break if /q/i =~ str

begin
puts "= #{parser.parse(str)}"
rescue ParseError
puts $!
end
end Exception ParseError &2 H 5
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irb(main):001:0> a = [1,2,3,4]
=>[1,2,3,4]
irb(main):002:0> a.push(10)
=>[1,2,3,4,10]
irb(main):003:0>
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irb(main):003:0> a.pop
=>10
irb(main):004:0> a
=>[1,2,3,4]
irb(main):005:0>
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irb(main):001:0> h = Hash::new
=>{}

irb(main):002:0> h['apple'] = 150
=> 150

irb(main):003:0> h['banana'] = 200
=> 200

irb(main):004:0> h['lemon'] = 300
=> 300

irb(main):005:0> h

=> {"apple"=>150, "banana"=>200, "lemon"=>300}
irb(main):006:0> h['apple']

=> 150

irb(main):007:0>




